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The North Pacific populations of seals and sea lions cover a wider
geographic area than does the population of sea otters.

Babeequeen: Sea otter {E/N H A I M HIRATARA

C) _seals and sea lions FYEYIKER/V » {H/E sea otters iy prey JZHIK
b (IEWEEZ)

e) f£kill whale "R THY bay HY sea otters Ei&Efl kill whale F|HY T HVEL

BHRD T



9. ERHRUE S AR
[R4a]

1. Editorial: The local coal-refining plant is obsolete and will soon close. The
site will be used either for high-tech businesses or a more modern coal-
refining plant. Although jobs in high-tech businesses bring higher pay, a new
coal-refining plant would be better for the local economy: the workers about
to lose their jobs do not have the education required for jobs in high-tech
industries and will not be able to find new jobs in the region.

Which of the following is an assumption on which the argument relies?

(A) If workers at the old coal-refining plant lose their jobs, they will leave the
area and there will be an influx of workers who already have technical
training.

B) If high-tech businesses used the site, they would employ as many workers
as does the current coal refining plant.

(C) Working in @ modern coal-refining plant does not require the job skills
characteristic of a high-tech industry.

(D) In the local area, unemployment among people qualified for jobs in high-
tech businesses is high.

(E) The old coal-refining plant could continue to operate while being
converted to a modern plant.
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